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Altcmpl six questions, selecting two ¢_|ucsl,ions lrom parl~ I, two (|ll¢,!SliUl`l‘i lion: port- ll,one question Iron parl~ Ill and one qucxtion lrom part-~ IV.

Solve llub inequality x" ~4x"' + 4 :> 0 ~(5)

l _ , 1 ~-'4 if 1-1:0 _ _ (5)Let j(.\')=x and g(x)= f_ Determine  4| 1/ .r > U

4whether log zunl gofare continuous at x = 0.

‘°) rim: y‘"*<o) if y = ll- + \/fléfrf QW’ `  _

(mi Prove thu(  < ln(.\' + l) < _\‘ l`or nllx > () l(5)  
(bl Usc M.\".'l`_ lo prove that |.S'imc .S`i1r;ii lorull x,_\f G-R. i(5)  
(C) Determine ri. b, <~, cl e such that  'iifbq{{'x"t!?_i-ioiaqji =  ‘Ui   

Q

(n) Oil spilled from a tankcr spreads in n circle whose radius incrcuscrs nl the (8)
'E

1   rate ol`2 l`t/sec. llow fast is the area increasing wluen the rarlins of 51 circlc:
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(bl Find the intervals in which the curvv.: _v = 3.\'“ (9)~~- 40x 1 + 3x  20 EICCS

Upward ii. Down word. Also liml the points ul' l 'i

inflection.

(11) Find Asynnptoles of the gurve (.\' ~ _v + l)(,\ (8)
1"

'  y --»~  + y) == 8x - l

(bl Show that lor the paraliola y = ax? -i lm' -4- ¢~, (9)thc radius ()f'C\ll'\’2llllf€l'

is minimum at its vertex.
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Sketch the c\\r\~‘c» r == usi|\2(1'.

r =f= a(_l + COSU)Find area u|`|‘0|1im| lvmsrxdul by the <::\|'dir\i<|
' 1

of thelfiml thc hsnglh of Om: arch cycloid

.\ = 1/(U »- Sin (9). _v = nfl -» cns())

Ifiml thc surlhcc nrcz\ofa's|1||ere o(`radius 1;

!fi!!;!:_..ll.l

|)i<cu::s thc C0l\\’CI'g('I\\CC and divergemx: of series.
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Slam: lhé l\HC\`l\2\|i\|g Scrics test.
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(i) Absolute (3|)llVCl`g€|\CC (ii) (_f'*|\(‘iUUlH\| <:o11vcrgc1|c:<:

(iii) |_)i\’Cl`g€l\CC

Find the interval 0|`C0l\VC!'gC|lC€3and mdius n|`cu|\ve|'gc:|1f:c ofthe scriesf
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I’in;| 1l\rcc positive l\\lll\bC\'5 whosé sum is 48 and whose pmflufst is as large

as possible.

H` U =   and x changes |i'<_»m 3 to 2.98 \v\\iIcycl1:\ngCS fl'()l`ll 0.5

to (LS) limi an l\|1[)l'OXi|1\21lC ynlué: ibn' the chungm: in U.

_.--___ ..

`Avai|ab|e at l;,K-'76-Al |06

\@gNw.mathCiW»°f9


